(' I\I \ ‘—\—__/'_‘_h N : ‘l'j |
# a T~ = ) \ ,
o //" | ) Ix./
- /J/ ‘ f}/ .z’j ;
\(\T\d/r ol s
k-x____* ':Z_.} 'fi{?/’_______;— ___f/"""’

Planpaafatve fEWMEELNS
Qriving Quegnan

. &m”yrlg‘vﬂmul-l{m CLIELIMIE IR (F‘pﬁ[mﬂn M1 .M[II‘DLL“[MJ A [EeTs TR Bwi. Ot TekET =T
BIEQA)L CEAMNTE B0 D 5AD T DL R

Beimoue the markne [astene (rom e soown Rnng (ein sile of the votuelsl ang cagefully pull the fanmg
oM O e robben stan s & Tony

k= 4
IS X | ' — . Y]
_ I L
e Falay!
- = "t [ = -
!
|Y_"":| '

Hangzieneine GBRHEHIR

Irwng Direction

Step
War

4

|~ nE ~—~} (*“*“Stg o ;‘
{ ’Ih"'“'““f\.v,f‘ e T




UHCTpYyKUMA No ycTaHOBKe
3awwuTa gBurarens, Engine guard
Protector del motor, Garde moteur

Motorschutz, Protezione del motore

Assembling Instruction

Guarda do motor

Honda NC700X/XD/S/SD
Honda NC750X/XD/S/SD

WE RECOMMEND THE INSTALLATION

IN SPECIALIZED SERVICE.

Mbl PEKOMEHAOYEM NMPOU3BOAUTb MOHTAX
B CNEUWMANIU3NPOBAHHOM CEPBUCE.

G

€

(s

Hampm enine mEianu

Tirleitig Ilbeetitm

L
| M8  23Nm | [
— - z Note: All bolts and
ngine guar Mounting Bracket Spacer
3auwra (2 P et G waia auer|  [i=fl NUtsuse thread-locker, =
il for example “Loctite 243" i
m Pyl BHumanue: Mpn MoHTaxe -
R nonb3yiiTech UKcaTopoM
Fal pe3b0bl CpeaHeil poYHoCTH
A8 D 22mm H5mm = Hanpumep “Loctite 243"
Qty/Kon-8o 1 Qty/Kon-Bo 1 Qty/Kon-8o 1
Screw Screw Washer
Bont 5 Bont 6 LWaii6a
= | | S Zy
i . Fig . G0 .
: - |
¥ (f-'". ,
M8x20 DIN 933 M8x30 DIN 933 A8 DIN 125 Q V. 3
Qty/Kon-Bo 1 Qty/Kon-Bo 1 Qty/Kon-Bo 9 e :“9 %
. N— @& g
Screw Mounting Brack Ty = 0% ,
g Bracket Nat a1 e
Bont 8 Kpenéx 9 laiika ( J £ SN ej
T ! Q il All screws, bolts and nuts should be checked
- . L =l after driving the first 50 km to ensure that all
Sl are tightenet.
nll to the proper torque.
M8x25 DIN 933 V8 DIN 962 % Bce BUHTBI, 60NTbI 1 raiiku HeobxoanMo
Qty/Konso p Qy/Konso p _Qty Komso > & npoBepnTb Yepes 50 kv 1 y?enmn:cg 4TO BCE
Ell  COeaVHEHNS MMEIOT HYXHbIA MOMEHT 3aTSHKKM.
Washer Screw Screw Screw Screw
10 Wai6a 1" Bont 12 Bont 14 BuHT 15 BuHT
& (‘!
T %
NFE 27-619 M8x20 DIN 7991 M8x50 DIN 933 M8x35 DIN 912 M8x25 DIN 912
Qty/Kon-Bo 2 Qty/Kon-Bo 2 Qty/Kon-Bo 1 Qty/Kon-Bo 2 Qty/Kon-Bo 2

www.TITANMOTO.com
Q\
N,
4’5'




	Страница 1
	Страница 2

